
Instruction Guide

Support Center Phone 1-800-328-1752 / Web Site www.tractorseats.com

JD 4010 3-Piece Assembly

Small 
Backrest

Large 
Backrest

Seat

Right Side
Plate

PN: 7508

Left Side 
Plate

PN: 7507

Large Back
Plate

PN: 7509

Small Back
Plate

PN: 7510

1. Bolt the right side plate and the left side plate to the seat using four 5/16” x 3/4” bolts.  The
large hole on the side plates goes towards the back of the seat.

2. Bolt the large backrest to the left and right side plates using four 5/16” x 3/4” bolts.

3. Attach the small back plate to the large backrest using two 5/16” x 1/2” bolts.  The center of
the small back plate should be aligned with the center of the large backrest.

4. Attach the large back plate to the small back plate using two 5/16” x 3/4” bolts, lock washers
and nuts.

5. Bolt the small backrest to the large back plate using two 5/16” x 3/4” bolts.

Tools Needed
1 - 1/2” Wrench

2 - 9/16” Wrenches

006-JD-40103PC-002


